
Homework #1 

 

 

1. Convert the decimal number 65710 to the following bases: 

 

a.    16 

 

b.    13 

 

c.    8 

 

d.    11 

 

 

 

2. Perform the following conversions: 

 

 a. 6567 to ___________10 to ______________5 

 

to _____________ 9   

 

 

 

3. Convert the hexadecimal number 7B9F16 to the following bases: 

 

a.    8 

 

b.    13 

 

c.    11 

 

d.    10 

 

 

 

4. Perform the following computations: 

 

a. 567 + 347 =  _________7  

  

a. 5611 + 3411 =  _________11  

 



a. 435 + 345 =  _________5  

 

a. 869 + 379 =  _________9  

 

 

 

 

 

 

 

 

 

 

 

 


